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Losung Al

a) [4-V2=+V42-2=432 b) | 5-v/3 =+52-3 =475

c) |2-V/5=+22-5=420 d)|2-vV2=+22-2=+8

e) |9-v2=+92-2 =162 f) | 8-v/3=+82-3 =192

g) |5-V5=+52-5=+125 h) | 3-v/5=+32-5=+/45

i) |4-V5=+42-5=+80 j) | 9-V3=+92-3=+/243

K) |2-v10 =+22-10 =40 ) |3-Y6=+32-6=1/54

m) | 2-V11 =+22-11 = V44 n) | 6-v2=v62-2=+72
Lésung A2

a) |2-va=+4a b) | 5a-vb = V25a2b

c) | 4y-v3x =./48xy? d) | 9x - /x = V81x3

€) | 4m-vn = Viem?n f) | 2.v2a = vaa

g) | 4x%y- \/B—y = \/W h) | 7a?b -v2ab = V/98a5h3

i) | 2ab?-V6b = vV24a?b" i) | 3y-f6xy = /54xy3
Lésung A3

a) 3\/a+b=\/9(a+b) b) 2\/x—y=\/4(x—y)

c) |3vm—3n=.,9(m—3n) d) | 3{/p+3q =19+ 3q)

e) | 4mvn =+V16m?n f) | 3xyy3 —2=9x2(y3-2)

g) | 2bvV2a + 3ab = \/4b%(2a + 3ab) h) | 2uvV3uv — 2 = \J4u2v2(3uv — 2)

i) | 5V2a% +3b% =,/25(2a2 + 3b2) i) | 3y-6x +y2 =./54xy? + 9y*
Losung A4

13 312 1 7
o |vE=12 d) |2va="|2
e) 14 4 |x2 5/ep2 3
1=t f | %z\/g
9) |a"t="|2 hy | &ya ="|<>
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